Instructions. Think wherever you wish, but please do not write outside the box

Plato’s Trail Mix. Plato’s Trail Mix has 10 raisins for every 3 nuts. In a large bag of Plato’s Trail Mix, the number of
raisins is R and the number of nuts is N. Which is correct? Explain.

a) 10R =~ 3N b) 3R =~ 10N
{The symbol ~ means “is approximately equal to.” We would not expect the numbers to be exactly equal, since there is
some random variation.)
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Instructions. Think wherever you wish, but please do not write outside the box.

Plato’s Trail Mix. Plato’s Trail Mix has 10 raisins for every 3 nuts. In a large bag of Plato’s Trail Mix, the number of
raisins is R and the number of nuts is N. Which is correct? Explain.

a) 10R =~ 3N b) 3R ~ 10@

. ..—s-r“""""
(The symbol = means “is approximately equal to.” We would not expect the numbers to be exactly equal, since there is
some random variation.)
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Instructions, Think wherever you wish, but please do not write outside the box.

Plato’s Trail Mix. Plato’s Trail Mix has 10 raisins for every 3 nuts. In a large bag of Plato’s Trail Mix, the number of
raising is R and the number of nuts is N. Which is correct? Explain.

a) 10R =~ 3N b) 3R =~ 10N

(The symbol =~ means “is approximately equal to.” We would not expect the numbers to be exactly equal, since there is
some random variation.)
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Instruections. Think wherever you wish, but please do not write outside the hox.

Plato’s Trail Mix. Plato’s Trail Mix has 10 raisins for every 3 nuts. In a large bag of Plato’s Trail Mix, the number of
raisins is 2 and the number of nuts is V. Which is correct? Explain. .

IUR::::BN

(The symbol =~ means “is approximately equal to.” We would not expect the numbers to be exactly equal, since there is
some random variation.) '
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Instructions. Think wherever you wish, but please do not write outside the box.

Plato’s Trail Mix. Plato’s Trail Mix has 10 raisins for every 3 nuts. In a large bag of Plato’s Trail Mix, the number of
raisins is & and the number of nuts is N. Which is correct? Explain.

a) 10R ~ 3N b) 3R =~ 10N

(The symbol =~ means “is approximately equal to.” We would not expect the numbers to be exactly equal, since there is

some random variation.)
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Instructions. Think wherever you wish, but please do not write outside the box,

Plato’s Trail Mix. Plato’s Trail Mix has 10 raisins for every 3 nuts. In a large bag of Plato’s Trail Mix, the number of
raisins is R and the number of nuts is N. Which is correct? Explain.

a) 10R ~ 3N b) 3R ~ 10N

(The symbol =~ means “is approximately equal to.” We would not expect the numbers to be exactly equal, since there is
gome random variation.) '
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Instructions., Think wherever you wish, but please do not write outside the box.
Plato’s Trail Mix. Plato’s Trail Mix has 10 raisins for every 3 nuts. In a large bag of Plato’s Trail Mix, the number of
raisins is R and the number of nuts is N. Which is correct? Explain.

a) 10R = 3N b) 3R =~ 10N

(The symbol a means “is approximately equal to.” We would not expect the numbers to be exactly equal, since there is

some random variation.)
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Instructions. Think wherever you wish, but please do not write outside the box.

Plato’s Trail Mix. Plato’s Trail Mix has 10 raisins for every 3 nuts. In a large bag of Plata’s Trail Mix, the number of
raisins is B and the number of nuts is N. Which is correct? Explain.

a) 10R ~ 3N b) 3R ~ 10N

(The symbol =~ means “is approximately equal to.” We would not expect the numbers to be exactly equal, since there is
some random variation,)
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Instructions. Think wherever you wish, but please do not write outside the box.

Plato’s Trail Mix. Plato’s Trail Mix has 10 raisins for every 3 nats. In a large bag of Plato’s Trail Mix, the number of
raisins is R and the number of nuts is N. Which is correct? Explain.

a) 10R = 3N b} 3R =~ 10N

{The symbol =~ means *is approximately equal t0.” We would not expect the numbers to be exactly equal, since there is
some random variation.)




Instructions. Think wherever you wish, but please do not write outside the box.

Plato’s Trail Mix. Plato’s Trail Mix has 10 raisins for every 3 nuts. In a large bag of Plato’s Trail Mix, the number of

raisins is R and the number of nuts is N. Which is correct? Explain.

a) 10R = 3N

b) 3R ~ 10N

The symbol &~ means “is approximately equal to.” We would not expect the numbers to be exactly equal, since there is
Pp Y eq

some random variation,)
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Instructions. Think wherever you wish, but please do not write outside the box.

Plato’s Trail Mix. Plato’s Trail Mix has 10 raisins for every 3 nuts. In a large bag of Plato’s Trail Mix, the number of
raisins is R and the number of nuts is V. Which is correct? Explain. ‘

8) W0R =~ 3N | b) 3R ~ 10N

{The symbol ~ means “is approximately equal to.” We would not expect the numbers to be exactly equal, since there is
some random variation.) '
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Instructions. Think wherever you wish, but please do not write outside the box.

Plato’s Trail Mix. Plato’s Trail Mix has 10 raisins for every 3 nuts. In a large bag of Plato’s Trail Mix, the number of
raisins is R and the number of nuts is N. Which is correct? Explain.

a) LOR = 3N ' b) 3R = 10N

(The symbol =~ means “is approximately equal to.” We would not expect the numbers to be exactly equal, since there is
some random variation.)
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Instructions. Think wherever you wish, but please do not write outside the box.

Plato’s Trail Mix. Plato’s Trail Mix has 10 raisins for every 3 nuts. In a large bag of Plato’s Trail Mix, the number of
raisins is R and the number of nuts is N. Which is correct? Explain.

a) 10R ~ 3N b) 3R ~ 10N

(The symbol ~ means “is approximately equal to.” We would not expect the numbers to be exactly equal, since there is
some random variation.)
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Instructions. Think wherever yvou wish, but please do not write outside the box.

" Plato’s Trail Mix. Plato's Trail Mix has 10 raisins for every 3 nuts. In a large bag of Plato’s Trail Mix, the number of
raisins is R and the number of nuts is N. Which is correct? Explain.

a) 10R ~ 3N b) 3R ~ 10N

(The symbol =~ means “is approximately equal to.” We would not expect the numbers to be exactly equal, since there is
some random variation.)
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Instructions. Think wherever you wish, but please do not write outside the box.

Plato’s Trail Mix. Plato’s Trail Mix has 10 raisins for every 3 nuts. In a large bag of Plato’s Trail Mix, the number of
raisins is B and the number of nuts is N. Which is correct? Explain.

a) 10R ~ 3N b) 3R =~ 10N

(The symbol = means “is approximately equal to.” We would not expect the numbers to be exactly equal, since there is
some random variation.) :
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Instructions. Think wherever you wish, but please do not write outside the box.

Plato’s Trail Mix. Plato’s Trail Mix has 10 raisins for every 3 nuts. In a large bag of Plato’s Trail Mix, the number of
raisins is R and the number of nuts is N. Which is correct? Explain,

a) 10R ~ 3N b) 3R =~ ION

(The symbol ~ means “is approximately equal to.” We would not expect the numbers to be exactly equal, since there is
some random variation.)

R- Povwms 0=t
10 3
40 lo
30 q
~NO Y

R

R , | A N
16(i0) £ 3(3) 3i0) % !0(.3)
) % 3l 3(a0) % 0@
1030 % 3l Sa0 % 10
(30 ¥ 3(9) (30‘ 21008




Instructions. Think wherever you wish, but please do not write outside the box.

Plato’s Trail Mix. Plato’s Trail Mix has 10 raisins for every 3 nuts. In a large bag of Plato’s Trail Mix, the number of

raisins is R and the number of nuts is V. Which is correct? Explain.
a) 10R =2 3N

(The symbol = means “is approximately equal to.”
some random variation.)

b) 3R =~ 10N

We would not expect the numbers to be exactly equal, since there is
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Instructions. Think wherever you wish, but please do not write outside the box.

Plato’s Trail Mix. Plato’s Trail Mix has 10 raisins for every 3 nuts. In a large bag of Plato’s Trail Mix, the aumber of
raisins is R and the number of auts is N. Which is correct? Explain.

a) 10R =~ 3N b) 3R = 10N

{The symbol = means “is approximately equal to.” We would not expect the numbers to be exactly equal, since there is

some random variation.)
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Instructions. Think wherever you wish, but please do not write outside the box.

Plato’s Trail Mix. Plato’s Trail Mix has 10 raisins for every 3 nuts. In a large bag of Plato’s Trail Mix, the number of .
raisins is R and the number of nuts is N. Which is correct? Explain.

a) 10R =~ 3N : b) 3R~ 10N

(The symbol =2 means “is approximately equal to.” We would not expect the numbers to be exactly equal, since there is
some random variation.)
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Instructions. Think wherever you wish, but please do not write outside the box.
Plato’s Trail Mix. Plato’s Trail Mix has 10 raising for every 3 nuts. In a large bag of Plato’s Trall Mix, the number of
raisins is B and the number of nuts is N. Which is correct? Explain. '

a) 10R = 3N b) 3R ~ 10N

(The symbol a means “is approximately equal to.” We would not expect the numbers to be exactly equal, since there is

some random variation.)
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